
 
1 

 

 

Admission Test (Sample Question Paper) 

Class: 10th  
 

Time: 2½ hrs.                                                                   M.M. 80 
 

                                        [Section-A (English)]                      [M.M. 20] 

[Reading Section-10 Marks] 
 

Q.1 Read the following passage carefully and answer the questions that follow:    

I was 18 and broke. Mrs. Link needed help. Apparently, I was the one for the job. I worked for six 

hours. Mrs. Link showed me how to plant bulbs, what flowers and weeds to pull out and where to haul 

the dried plants. I finished off the day by mowing the lawn with a mower that looked like an antique, 

but worked like brand new. When I had finished, Mrs. Link gave me a cheque for three dollars. The 

next week I cleaned Mrs. Link‟s house. She showed me exactly how to vacuum her antique Persian 

rug with her antique looking vacuum cleaner. 

  Some weeks I got to be a chauffeur. The last gift to Mrs. Link from Mr. Link was a glorious new car. 

Mrs. Link‟s car was 30 years old but still glorious. An year and a half passed since I met Mrs. Link. 

School work and Church were taking up more of my time, I saw Mrs. Link seldom. On Valentine‟s 

Day, I self-consciously presented Mrs. Link a small bouquet, which she graciously accepted. A couple 

of months later, I visited Mrs. Link again. Centred on her mantelpiece, in her living room full of 

beautiful things, stood my wilted and faded Valentine‟s Day bouquet-the only Valentine Mrs. Link had 

received that year. 

  I. Answer the following question: 

  a) Mention any two jobs assigned to the writer. 

  b) Do you think that the writer and Mrs. Link had a good rapport? 

  II. On the basis of your reading of the passage, complete the statement. 

  a) For an year and a half the writer was not able to meet Mrs. Link because________ . 

  b) The writer presented a token of love to Mrs. Link _________ . 

  III. On the basis of your reading of the passage, complete the statement. 

  a) For an year and a half the writer was not able to meet Mrs. Link because_________ . 

  b) The writer presented a token of love to Mrs. Link _________ . 

  III. Find words from the passage which mean the same as: 

  a) Historic 

  b) Courteously                                     [5] 
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Q.2 Read the passage carefully and answer the questions that follows:     

  The Kurukshetra war was interminable, with men and beasts being killed on both sides. The Pandavas 

realized that they could not win the war unless Drona, their teacher in the art of war, was defeated. But 

no one could defeat him fairly. Only one thing would dishearten and disarm Drona, the news that his 

son Aswathama had been killed. And so, as planned earlier, on the fifteenth day of the war, Bhima 

killed a huge elephant called Aswathama and roared, “I have killed Aswathama.” Drona heard this 

roar and thought that his son has been killed. To make double sure that what he had heard was true, he 

asked Dharmaputra on the Pandava side, “Is it true that my son has been killed ?” Drona knew that 

Dharamputra, the incarnation of Dharma (righteousness), would not tell a lie. But the war had to be 

won. So, Dharamputra shouted at the top of his voice, “Yes, Aswathama has been slain.” He added in 

a low voice that could not be heard above the din of the battle, “Aswathama, the elephant.” Drona 

believed that his son had been killed and so lost all interest in the battle and sat down in his chariot in a 

yoga posture. Immediately, the eldest brother of Panchali killed Drona. Dharamputra made himself 

and others believe that he did not tell a lie. For he thought that he had also said, though in a low voice, 

that Aswathama, the elephant, was killed. But any statement you make with the intention of cheating 

other is a lie; nothing less. The very moment Dharamputra uttered that one lie, his chariot whose 

wheels always stood and moved some four inches above the ground came down and touched the 

ground. He was punished for telling a lie. 

    Complete the following sentences: 

  a) The Pandavas realised that they could not win the war unless __________ .  

  b) „Aswathama‟ whom Bhima killed was actually __________ . 

  c) The eldest Pandava was called Dharmaputra because _________ . 

  d) Dharmaputra‟s chariot came down and touched the ground as a punishment for ____________ . 

  e) The word in the passage which means the same as „killed‟ is ________ .    [5] 
 

[Writing Section- 7 Marks] 

Q.3 You are Pratap/Pratibha. You dream and aspire to make your country a superpower in the years to 

come. Write an article for the school magazine to inspire the present generation to serve their country. 

Use hints given below: 

 a) Avoid going abroad 

 b) Use talent to develop country 

 c) Feel proud to be an Indian 

 d) Better sanitation 

 e) Improve standard of living 

 g) To imbibe higher social values and corruption.                   [7] 
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[Grammar Section- 3 Marks] 

Q.4 Rearrange the words and phrases to form meaningful sentences. 

 a) National/hockey/India/is the/sport of 

 b) friends/I/my/were/grand mother/and good 

 d) always/with/school/she/me/to/went               [3×½=1½] 

Q.5 Fill in the blanks with the correct options from those given below:    [3×½=1½] 

 Millions of people (a) ________trouble getting enough sleep. Recent research links lack (b) 

_______sleep to health problems ranging (c) ______ hypertension to weight gain. 

 a) (i) have  (ii) has   (iii) are   (iv) is 

 b) (i) of   (ii) from  (iii) with  (iv) in 

 c) (i) with   (ii) in   (iii) from (iv) as 

 

[Section-B (Hindi)] 
 [M.M. 20] 

çŒ1 x|ka’k dks i<+dj fn, x, ç’ukas ds mÙkj fyf[k,&  

  ckS) n’kZu eas Lrwikas vkSj fogkjkas dk fo’ks"k egRo gSA ckS) fHk{kq budk mi;ksx eq[;r% mikluk] iwtk&vpZuk 

rFkk /;ku bR;kfn ds fy, fd;k djrs FksA xksj[kiqj&okjk.klh [kaM ij fLFkr lkjukFk fo’o dk izeq[k ckS) 

dsUnz gSA Hkxoku cq) us ;gk¡ ls ckS) /keZ dk izorZu fd;k FkkA mUgksaus vius ik¡p f’k";kas dks loZizFke ;gha ij 

mins’k fn;k FkkA ;gk¡ vusd ckS) eafnj] Lekjd ,oa Lrwi gSaA /;ku yxkdj lquk tk; rks yxrk gS fny dh 

/kM+dukas ds lkFk Þcq)e~&’kj.ka xPNkfe] /kEee~&’kj.ka&xPNkfe] la?ke~&’kj.ka xPNkfeß dh /ofu vkt Hkh lkjukFk 

ds d.k&d.k eas xw¡t jgh gSA ckS) dsUnz ds :Ik eas lkjukFk dk viuk gh vn~Hkqr vkd"kZ.k gSA cukjl igq¡pus 

okys fojys gh i;ZVd gksaxs tks lkjukFk ds lEeksgu eas f[kaps u pys vkrs gksaA Jko.k ekl ds izR;sd lkseokj 

dks ;gk¡ esyk yxrk gSA  

 ¼d½ ckS) n’kZu eas fdu pht+kas dk fo’ks"k egRo gS\        [2] 

 ¼[k½  lkjukFk fdl dkj.k ls izfl) gS\         [2] 

 ¼x½ lEeksgu eas f[kaps vkus ls vki D;k le>rs gSa\       [2] 

 ¼?k½ Hkxoku cq) dk lkjukFk ls D;k laca/k gS\        [2] 

 ¼³½ (i) ^mi;ksx* 'kCn dk foykse fy[kksA               [1] 

  (ii) ^mi;ksx* 'kCn eas ^bZ* çR;; yxkdj u;k 'kCn cukb,A      [1] 

çŒ2 fuEufyf[kr eas ls fdlh ,d fo"k; ij ladsr fcUnqvkas ij vk/kkfjr 150&200 'kCnkas eas fucU/k fyf[k,&[10]  

 ¼d½ le; dk egÙo  

  1. fo|kFkhZ thou eas le; dk egÙo   

  2.  le; ls vuq’kklu 



 
4 

 

  3. le; dk fu;kstu 

  4. vPNh vknrksas dk fodkl 

  5. Hkfo"; eas gksus okys ykHk 

 ¼[k½ çkÑfrd vkink,¡ ,oa vkink çca/ku 

  1. fofHkUu izdkj dh vkink,¡   

  2.  dkj.k rFkk gkfu;k¡  

  3. vkink çcU/ku dk vFkZ o vko’;drk   

  4. fu"d"kZ 

 ¼x½ Ik;ZVu dk egÙo 

  1. i;ZVu dk vFkZ& ekuo dk ftKklq gksuk 

  2. Ik;ZVu ls ykHk 

  3. Ik;ZVu ,d m|ksx 

  4. Ik;ZVu dks c<+kok nsus dk iz;kl 

  5. milagkj   

                         

             [Section-C (Mathematics)]         [M.M. 20] 

Q.1. Do as directed:                 

 a) 
3

– ________a b . 

 b) Volume of sphere = __________. 

 c) If (1, –1) is a solution of the linear equation x – 3y = –k. Find the value of k. 

d) In quadrilateral ABCD, 180A D . Then the quadrilateral is called ________ .    [4×1=4] 

Q.2. Solve the following:             

 a) Evaluate using suitable identity (104)
3
. 

b) Check whether x = –2 and y = 6 is a solution of 3(x–2) + 2(y +3) = 6. Find one more solution. 

c) In the given figure ABCD is a parallelogram with 110B . Find the values of x and y. 

 

40°

x
110°

y

A B

CD
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d) The length, breadth and height of a cuboid are 8m, 6m and 4m resp. Find its total surface area. 

e) Find the volume of the right circular cone with radius 6cm and height 7cm.     [5×2=10] 

Q.3 Find the solution:      

 a) Factorize: 2x
2
 –7x –15 

 b) If the curved surface area of a cylinder is 1760cm
2
 and its base radius is 14cm. Then find its height. 

[2 × 3 = 6] 

 

[Section-D (Science)] 
 [M.M. 20] 

 

Q.1 Write the value of universal gravitational constant [G].               [1] 

Q.2 What is difference between 2C and C2?                                [1] 

Q.3 State law of conservation of energy.                                 [1] 

Q.4 Define power. Give its SI Unit.                                 [1] 

Q.5 Write two differences between longitudinal and transverse waves.      [2] 

Q.6 What is soil erosion? What are two method of preventing or reducing soil erosion?   [2] 

Q.7 Write two differences between speed and velocity.          [2] 

Q.8 Define following: 

 a) Diffusion 

 b) Osmosis                                    [2] 

Q.9 Write four differences between plant cell and animal cell.           [2] 

Q.10 Define Newton‟s II
nd

 law of motion. Give two examples where II
nd

 law of motion is seen in everyday 

life.                               [3] 

Q.11 Write three differences between distance and displacement.        [3] 

 

 

 

 

 

 

 

 


